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100kN/m’ % 82 5 X 17|
NOKES| TBE | HOKES| LBE |HOKES| LB8E |H0oKXEE 8% ADKES| TBF |HOKZS| tH5F |H0XES 5% |hoXzd 5%
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100kN/m’ %% 5 X

(Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m) (Kn/m?) (m)
1 2 - = 100.0 1.0 = = 11.4 2.3
2 3 - - 100.0 1.0 - - 11.4 2.3
3 4 - = 100.0 1.0 = = 10.4 2.1
4 5 - - 100.0 1.0 - - 10.5 2.1
5 6 - = 100.0 1.0 = = 10.6 2.1
6 7 - - 100.0 1.0 - - 10.6 2.1
7 8 - = 91.3 1.0 = - 8.4 1.7
8 9 - - 78.3 1.0 - - 8.3 1.7
9 10 - - 73.3 1.0 - = 8.3 1.6
10 11 - - 73.3 1.0 - - 8.3 1.6
11 12 - - 68.4 1.0 - = 8.3 1.6
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